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2025

ECONOMICS
Paper : ECO0400304

( Introductory Quantitative Techniques
for Economics )

Full Marks : 60

Time : 2% hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x8=8
SO PP BT fodn
fa If A={2,3,4 and B={1,2, 3}, then
find AnB.
i A={2, 3,4 uF B=(l,2,3}, @
AN B e |

(b) Give an example of polynomial function.
2o Foma b1 Tz fra |
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(c)

(d

(e)

(9)

n

A25/837

(2)

What is %(C), where C is a constant?

i(C) =, 'S C 951 #9397
dx

What is jldx?
X

[ Zax Ram o
X

2
Find _fxadx.
1
2
_[dex Sfered |
1

Write the necessary condition for
maximization of a function.

waﬁamﬁmﬁm@amﬁw

What does r =1 mean?

r=14 % @A?

If there are two variables, how many
regression lines will be there?

w51 b AIfPCeT, STARA (341 (2 1fFa 2

( Continued )

(3)

2. Answer any six from the following questions :
2x6=12

O PTYRA o[ R I R Ted o

2
la) Find timX =L

x-l x-1

2
it =L S

x=1 x-1

(b) Ify= 7z, then find %

My =7z, 5B f—éﬁa‘%@ml

2
(c) If y=x2+2x, then find ay

dx2

2
My =x2 +2x, (53 a7y Tferedr |
de

(d) Find j 2./x dx.
[24/x cx Sftiam |

(e) Prove that

AT M @

2
j(2x+6)dx=16
0
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(9)
(h)

()

0

(4)

What is local optima?

A sy 9

What is multiple correlation?

IR TS [ 2

Define the rank correlation coefficient.

T DT BN g e

Mention two differences between
correlation and regression analysis.

o WE AR ReRw e g5 o1

BEI |

If two regression coefficients are 0-8 and
1-2, then find the correlation coefficient.
SR @IS 51 [ 0-8 WF 12 W, (O3
TR BT Bfere |
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Answer any four from the following

questions :

S PR N R o wiiReR Taw for

5x4=20

(a) Examine the continuity of the following

function at the point x=1:

f(x)=x2 -2x+3 , when x<1
=1 , when x=1

=2x2 -3x+5 , when x>1

( Continued )

(b)

()

(d)
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(S)

x =1 e TR FAcorR wfifrae [0 74
fl)=x%-2x+3 , @M x<1
=1 , @fem x =1
=2x2 -3x+5, @M x>1

() If y=5(x2+3x+2)°, then find %x-‘!.

M y=52+3x+2)°3, =@ %

feredn

(i) If z=4xy+x> +2y?, then find g_;.
MW z=4xy+x3 +2y°, (=@ g—;

e |

Establish the relationship between
average cost (AC) and marginal cost (MC)
by using product rule of differentiation.
SPed o9 PR e IR AT 7w (AC)
oF ¥ I (MC)I Trere 7o o 1 |

Marginal revenue function is
MR =50 - 40, where Q is quantity. Find
the average revenue (AR) function.

Af3F A To9 (LR MR =50-4Q, IS Q

220= <RI | S W (AR) ¥ e |
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4.
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(e

(9)

)

Answer
questions :

(6)

Evaluate :
= Sferea :

I6x+3

x2 +x

dx

Find the output level at which the
average cost (AC) is minimum, given
total cost TC =202 +5Q +18.

5 W 1 =R TC =202 +5Q +18, % I
(AC) RfF @R Teomw B9 Bfersan |

Write the properties of Karl Pearson’s
correlation coefficient.

Pl PICIIOR ST QI 425! foran |

Write a note on the least square method
of estimation of regression line.

SRR (31 ST F91 Porod I e K
GBI (BTt foa |

any two from the following

10x2=20

SO SRPTRA *RT R G o e foran

(a)

Total revenue function is given as
TR =2000 -2-50Q2

Find the marginal revenue (MR) and
average revenue (AR) functions.

( Continued )

()

(c)

A25/837

(7)

I SR T {171 SR
TR =200Q -2-502

afes oM (MR) SF % W (AR) FoH
ferean |

Marginal cost (MC) is given as
MC=3x%-4x+3

where xis output. Total fixed cost is 500.
Find total cost (TC) when x =10.

afes @ (MC) famn =g
MC=3x%-4x+3

TS x CR TE I T B W ™R 500.
x =10 2T 5 IF (TC) Tftea |

Given total revenue (R) and total cost (C)
functions

R=30g-g>
C=q® -15g2 +10g +100

where gis output. Find maximum profit. ‘
T R (R) S¢ I8 I (C) Foiw famn WmR

R=30q—q2
C=q° -15¢% +10g +100

TS g (R T | 3w wirS Bfeve |
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(8)

(d) Calculate Karl Pearson’s correlation
coefficient from the following data :
OIS OUR [/l I PiIRe T 8N
Sferesr :

X 130(32[35]40[48|50|52|55([57]|61
Y|[1/0]|2|5]2)4|6(5]7|8

(e} Discuss the properties of regression
coefficient.

TR BNIR TR AN 7 |

* % *
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